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Part ]| Reading Comprehension (50 points)

Directions: There are {ive passages in this part. Each passage is followed by
five questions or unfinished statements. For each of them there are four
choices marked A, B, C, and D. You should decide on the best choice and

mark the corresponding letter on the Answer Sheet with a single line

through the center. (RJZHB43 R 26 DU FK 3 1) M 36 )

Passage 1
Questions 1 to 5 are based on the following passage :
From the moment of birth, a baby has a great deal to say to his

parents. But a decade or so ago., psychologists were describing the newborn

as a primitive creature who reacted only by reflex, a helpless victim of its

environment without capacity to influence it. And mothers accepted the

gospel (f§4%). Most thought (and some still do) that a new infant could
see only unclear shadows, that his other senses were undeveloped, and that

all he required was nursing, clean diapers (JRAi), and a warm baby bed.

e 1 .
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Today university laboratories across the country are studying newborns
in their first month of life. As a result, psychologists now describe the new
baby as perceptive, with remarkable learning abilities and an even more
remarkable capacity to shape his or her environment.

When a mere nine minutes old, an infant prefers a human face to a
head-shaped outline. By the time he’s twelve hours old, his entire body
moves at the precisely same time to the sound of a human voice, as if he
were dancing.

At the end of a week, a newborn recognizes something familiar about
the mother who has fed him from birth. And by [our weeks, infants are
already able to recognize subtle differences in language sounds and can
distinguish papa and mama.

These examples illustrate the newborn’s fine discrimination and
sensitivity to human contact. All five of a baby’s senses are in working
order from the moment of birth. The newborn can distinguish color from
black and white. If you move an object slowly before his face, his eyes and
even his head will follow it.

Hearing is even more acute. Shake a rattle (kB 8¢t H ), and the
newborn turns his head toward the sound. He startles at a sudden loud
noise. When an infant’s cry brings a quick response, he starts to learn the
purpose of language. Other senses — taste, smell, touch are equally
acute,

1. In Para. 1, “Most thought,” “most” refers to
A. psychologists B. babies
C. parents D. doctors
2. In Para.5, “discrimination” refers to
A. unfair treatment B. ability to tell small differences
C. unfair treaty D. equal selection
3. What is the main idea of this passage?
A. Newborns’ senses.

B. New babies are smarter than you think.



Bl % B A

C. Newborns’ preferences.
D. Premature babies are abandoned.
4. Para. 6 gives examples of
A. how hearing functions B. how hearing and sight function
C. how taste and smell function D. how all senses function
5. You would most likely find this article discussed in

A. a child psychology book B. a children’s literature book

C. a book for pregnant women D. a book of preferences
Passage 2

Questions 6 to 10 are based on the following passage :

Now we will tell you about a number of expressions that have been
built up from the word “straw” — phrases such as “straw in the wind”,
“the straw that broke the camel’s back”, “straw man”, and so on. After a
farmer takes the grain from a wheat plant, he is left with straw. There is
little he can do with it. He cannot eat it. It is worth almost nothing. And
so, the word is often undone to point out something worthless.

We say one is casting or throwing a straw against the wind when he is

trying to do something impossible. A straw is light and has no chance

against the wind. It is easily blown away. And people who have lost all

hope but keep trying to find some kind of support are said to be grabbing at
a straw, which is nothing. Such people will soon find that they are left
with “the last straw” — they can hope no more, but are fed up with
hoping. That meaning comes from the phrase, “the straw that broke the
camel’s back. ” If, for example, we keep piling straws on the back of a
camel, and continue to do so without stopping, there will come a time
when just one more straw will make the load too heavy for the animal.
And so, that will be the straw that breaks the camel’s back, so to speak.
Then, there is the use of the word to describe people who are trying to win
an argument. They will, as it is said, “set up a straw man.” They will

make a statement that seems to support their opponents, and quickly prove
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the statement wrong. The statement had little weight and was easy to
knock down, like a straw man. Now, as for “straw polls,” that is
something else. They are public opinion surveys or studies made by
newspapers and magazines. The first American straw poll on record was
made by a Pennsylvania newspaper in 1828. It sent reporters to
Wilmington, Delaware, to find out the most popular choice among four
Presidential candidates. As a result, the newspaper said that Andrew
Jackson would win the election. And that turned out to be true. The survey
was called a “straw poll” because it was like holding a straw up in the air to
see which way the wind was blowing.

In 1936, one magazine, The Literary Digest, did a straw poll that it
soon tried to forget. It said that All Landon would defeat Franklin Delano
Roosevelt for the President. The magazine made a serious mistake. It
polled ten million people. But their names were taken from telephone or
car owner lists, However, one third of all Americans did not have
telephones or cars at that time. These were poor people more likely to vote
for Roosevelt, who offered programs to help the poor. This proved to be
the last straw. Roosevelt won in a landslide.

6. When people grab at a straw,

A. they are fed up with hope

B. they are usually hopeless

C. they still want to get some support in spite of having no hope

D. they are said to be left with no hope

7. From the passage, we learn “a straw poll” is

A. a kind of vote

B. for people to bet what horse will win

C. to find which way the wind is blowing

D. a ball made of straws

8. People set up a straw man when they intend to

A. prove their opponents’ statement overweight

B. support their opponents

o« 4 .
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C. defeat their opponents
D. oppose their opponents
9. The word “straw” is worthless or in vain in meaning in all the
expressions except
A. a straw man
B. to cast a straw against the wind
C. to grab at a straw
D. the straw that breaks the camel’s back
10. What can we infer from the last paragraph?
A. A straw poll sometimes is not sound.

One third of all Americans hated the press.

o w

Whoever helps the poor will win an election.

o

The poor didn’t vote for All London because their names were not

listed in the telephone book.

Passage 3
Questions 11 to 15 are based on the following passage :

For many years, cotton and tobacco were the South’s only agricultural
products of any importance. In the mid twentieth century, however,
Southern farmers began to rely less and less upon one crop to earn a living.
World prices of cotton and tobacco often vary greatly. Therefore, a

sudden fall in the price of either can cause economic suffering to those who

depend solely on one crop for income. Consequently, many Southern

farmers now raise sugar, peanuts, corn, rice and a wide variety of garden
vegetables. Citrus fruits are also grown in large quantities, especially in
Florida where they can receive warmth and sunlight all year long.

The other major economic activities in the region include mining (in
Kentucky and Tennessee), fishing (in all coastal states, particular along
the Gulf of Mexico), steel and other heavy industries (in some of the
larger cities, such as Birmingham, Alabama, and Memphis, Tennessee),

and tourism (in the coastal areas). In Florida, income from tourism



